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Discussion

In the CN1#19bis meeting, it was found out that the notation of tokenisation parameters is not consistent in the current 24.228 call flows with the hiding case. The problem occurs also outside those contributions that raised this issue, therefore this contribution is attempting to address this issue and find out the proper solution.

The issue comes out when I-CSCF has to hide more than one entity in its home network. Currently, three SIP headers are involved in the hiding issue, they are:

Via header

Example 
Via: SIP/2.0/UDP Token(scscf2.home2.net, scscf1.home1.net)

Record-Route header

Example

Record-Route: sip:Token(scscf2.home2.net, scscf1.home1.net)

Route header

Example

Route: sip:Token(scscf2.home2.net, scscf1.home1.net)

The problem is, when the I-CSCF de-tokens the headers, it gets:

For Via header:

Via: SIP/2.0/UDP scscf2.home2.net, scscf2.home2.net

For Record-Route and Route headers:

Record-Route: sip:scscf2.home2.net, scscf1.home1.net

Route: sip:scscf1.home1.net, scscf2.home1.net

Obviously, the I-CSCF will be confused with what it gets because the de-tokened outcome don’t confirm to the SIP syntax.

Proposal

This contribution is trying to give consistence to show the tokenisation in all the flows in 24.228 and provide two options for showing the tokenisation:

Option 1:

Via: SIP/2.0/UDP Token(scscf2.home2.net, scscf1.home1.net)( Via: SIP/2.0/UDP Token(scscf2.home2.net),  SIP/2.0/UDP Token( scscf1.home1.net)

Record-Route: sip:Token(scscf2.home2.net, scscf1.home1.net)( Record-Route: sip:Token(scscf2.home2.net), sip:Token (scscf1.home1.net)
Route: sip:Token(scscf2.home2.net, scscf1.home1.net)( Route: sip:Token(scscf2.home2.net), sip:Token(scscf1.home1.net)

Option 2:
Via: SIP/2.0/UDP Token(scscf2.home2.net, scscf1.home1.net)( Via: Token(SIP/2.0/UDP scscf2.home2.net, SIP/2.0/UDP scscf1.home1.net)

Record-Route: sip:Token(scscf2.home2.net, scscf1.home1.net)( Record-Route: Token(sip: scscf2.home2.net, sip:scscf1.home1.net)
Route: sip:Token(scscf2.home2.net, scscf1.home1.net)( Route: Token(sip: scscf2.home2.net, sip:scscf1.home1.net)

It is proposed that through the discussion, we should find out the best solution to solve this problem. 

